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24. Which of the following options has

the correct passive voice form of the

following sentence ?

‘Lock up that house.’

(a) Let that house be locking up by
you.

(b) Let that house locked up by you.

(c) Let that house be locked up.

(d) Let that house being locked up.

25. Which of these words is wrongly spelt ?

(a) ambition (b) institution

(c) collection (d) transmition

26. Fill in the blank in the given sentence

by choosing the correct option.

No sooner did she arrive they

started laughing.

(a) than

(c) then

(b) when
(d) that
27. Choose the correct indirect speech of
the given sentence.

The doctor said to me, “Take this
medicine twice a day”.
(@) The doctor told me that I should
take that medicine twice a day.
(b) The doctor said to me that I would
eat that medicine twice a day.
(c) The doctor asked me that I should
take that medicine two times a
day.
(d) The doctor advised me to take that
medicine twice a day.
28. Choose the appropriate meaning of the
phrase “put up with”.
(a) tolerate
(b) put on a high place
(c) put clothes on
(d) keep safe

Instruction for Question Nos. 29 to 32 :

Read the following passage carefully and
answer the following questions that follow :

When I go into a stranger’s personal
library, I wander round the bookshelves to
learn what sort of person the stranger is and
when he comes in, I feel that I know the key
to his mind and the range of his interests. A
house without books is a characterless house,
no matter how rich its owner is. The rich

A
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decoration of the drawing room and bedr&ém
and the luxurious bathrooms tells us that the
man is wealthy but the books tell you whether
he has got a mind as well. It is not a question
of money that we do not buy good books or
maintain a library of good books. I repeat
that the books are the cheapest and the best
part of the equipment of a few dollars. Nearly
all the best literature in the world is at your
command at two dollars a volume. For 100
dollars you can get a library of fifty books.
Even if you do not read them yourself, they are
a priceless investment for your children. What
delight is there like the revelation of books
— the sudden impact of a master-spirit, the
sense of a window flung open to the universe ?
It is the adventure of the mind, the joy of which
does not pass away, that gives the adventure
of life itself beauty and fragrance.

29. Books are important for
(a) the person only, who buys them
(b) the coming generation
(c) the buyer and his next generation
(d) all citizens

30. What delight does a good book provide ?

(a) It tells about the character of its
owner

(b) It helps the owner earn a lot of
money

(c) It opens the window to the
universe

(d) It is a great treasure of wealth

31. How can we command the best of world

literature ?

(a) By establishing a huge library in
our city

(b) By purchasing a volume pricing
two dollars only

(c) By purchasing all the good books
of the world

(d) By downloading the pdf of the best
books of the world

32. The compound word ‘master-spirit’ in

the passage means

(a) a master of spirits

(b) the spiritual effect of a master

(c) the controller of men

(d) the controlling spirit
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34.

35.

%‘é, In order to satisfy the psychological

needs of competence, relatedness and
autonomy, an effective repertoire of
which skills are necessary ?

(a) repetitive skills

(b) aggressive skills

(c) precision skills

(d) interpersonal skills

Assertion (A) : Moon cannot be used as
a satellite for communication.

Reason (R) : Moon does not move in the
equatorial plane of the earth.

Choose your answer from the options
given below.

(a) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(b) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which one of the following is NOT a
number of the series ?

1, 8,27, 64, 125, . . .
(a) 256 (b) 512
(c) 729 (d) 1000

36. The optimal way for effeqtive problem

solving is
(a) to balance distinctiveness and
processing

(b) to balance conventional and
non-conventional thinking

(c) to balance egocentrism and biases

(d) to balance assumption and
inference
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37. Which of the following character placed

38.

39.

40.

at the sign of question mark (?) to
complete the matrix ?

4C 2B 3A

28B ? 45B

7B 5A | 15C

(@) 7C
(b) 10C
(¢) 12C
(d) 13C

The objective of decision making
should be

(a) To make the correct choice
(b) To make the best choice

(c) To make the risky choice

(d) To make the reinforced choice

The minimum number of colours
required to paint all faces of a cube,
that no two adjacent faces may have the
same colour, is

(@) 1
(b) 2
(¢ 3
(d) 6

What approximate percentage of
individual’s working hours is engaged
in interpersonal communication ?

(2) 80 - 90%
(b) 60 — 70%
(c) 100%

(d) 40 — 50%
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4C 2B 3A

28B ? 45B

7B S5A | 15C

(@) 7C
(b) 10C
(c) 12C
(d) 13C

38. fiufa oM ol SE3TF BT =T1eY
(a) & ferheq =t Frafeor
(b) TH9rs ferehea w1 Fafer
(c) Sfem R farehea w1 et
(d) vefera fereea st Fator

39. Fret o= % Guft e H 3H YR § 9T FA
f7u Fop e 2 e STl & U1 9AH A 8, FH
3 o R T o STEwehaT @ 7
(@) 1
(b) 2
(c) 3
(d) 6

40 =fFa ¥ w1 gua w1 e fhad whawd 9T
ST Teyor § 50w BT ¢

(2) 80 — 90%
(b) 60 — 70%
(c) 100%

(d) 40 — 50%
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451@ Controversy always involves
\ (a) Revenge

(b) Anger
(c) Passion

(d) Disagreement

42. A plane left 30 minutes later than the
scheduled time and in order to reach its
destination 1500 km away in time it has
to increase its speed by 250 km/h from
its usual speed. The usual speed is

(@) 500 km/h

(b) 600 km/h

(c) 750 km/h

(d) 900 km/h

43. Creative problem solving is associated

with

(a) Convergent thinking
(b) Group think

(c) Active listening

(d) Divergent thinking

44. Ifx,y, z are positive integers such that
X:y=1:2andy:z=3:5, then which
one of the following will be possible value
of 5x -3y +2z?
(@) 180

(c) 196

(b) 190
(d) 200

45. In problem solving the present

information is converted into
(a) mental temperament
(b) mental background

(c) external mental representation

(d) internal mental representation

|
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41. e ada wmfed =@ ?
(a) gfaeme
(b) St
(c) I
(d) Tasg

42, T agaH oA Fuifa ag @ 30 fime 3t @

31 N FH 1500 Toh. Y. L 39 T W ema &
Tge o forg ot ferife wifa &6t 250 fR.A. /0.
ST yedn § | fetfa nfa @

(a) 500 fer. . /4.
(b) 600 fob.Ht. /5.
(c) 750 fe.Ht. /5.
(d) 900 fe.Ht. /4.

43. GSHTCHS THE GHIL T o 3
(a) AR fomam @

(b) g G |

(c) |fsha sraor &

(d) STur e &

44, aﬁx,y,zaqmwﬁmm%ﬁs x:y=1:2
Ay : z = 3 : 5, a Frafafad § 4 sw-w
5x — 3y + z T GES HH BT 7

(a) 180 (b) 190

(c) 196 (d) 200

GURIT G § FAH STHhR] bl Sqidid o
ST ®

(a) AR faaysia o

(b) TR geavf H

(c) sTRr ATfes gt o

(d) rafes afees giafifie o
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46. Ifthe day before yesterday was Saturday,

47.

48.

49.

what day will be on the day after
tomorrow ?

(a) Friday

(b) Thursday
(c) Wednesday
(d) Tuesday

Which of the following is NOT an obstacle
in mindful listening ?

(a) prejudgement
(b) dual perspective
(c) message overload

(d) message complexity

Count the triangles in the following
diagram and find the correct answer.

(a) 14 (b) 18

(c) 16 (d) 20

Pointing towards a person, a man said
to a woman “His mother is the only
daughter of your father”. How is the
woman related to that person ?

(a) sister
(b) wife
(c) mother

(d) daughter

Lt
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el oh 18 b AT T B ?
(a) YA

(b) TR

(c) gaa

(d) TETER

frefafad 8 8 F geaT s d s aE e ?
(2) FeOT

(b) e gfeanioT

(c) Tewr TR

(d) Hew1 Sifderan

frafaRaa terfes § st 6 momn Hifse qen
TEY 3T 9T i |

(@) 14
(c) 16

(b) 18
(d) 20

Tk ookl <ht ST Hehdl U 5 Toh TTGHT + ok Higet
H el - “Iuh A gren fe i gl gh R |7
8 Higen 39 =fa o foha Jerr geaifea & 7

(a) &=
(b) et
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5Q.. with reference to decision making,

" which statement(s) is/are correct ?
1. Human rationality is limited.

2. Any individual can improve his
decision making through practice.
Select the correct answer using the
codes given below.
Codes :

(a) Only 1is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct

(d) Neither 1 nor 2 is correct

51. Which one of the following model

emphasizes on the dynamism of
interpersonal communication ?

(a) Linear model

(b) Interactive model

(o) Transactional model -
(d) None of the above

The correct word in place of ‘?’in
FISH : CLPK : : NOSE : ? is

(a) KPLC

(b) LKCP

(c) KLPC

(d) KRPH

53. In the context of decision making

personal probabilities are commonly
referred to as

(a) Social probabilities
(b) Adjustable probabilities
(c) Subjective probabilities

(d) Non-functional probabilities
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(a) Faet 1 TR
(b) ¥ 2 TR
(©) 1 3l 2 ARl EE ®
(d)qahaﬂwﬁzwé%
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BRGNS

(b) i eerh Sfeed

(c) HoTTER iEd

(d) S i S T

51.

FISH : CLPK : : NOSE : ? o
¢ 3 T TR TE TR ©

(a) KPLC

(b) LKCP

(c) KLPC

(d) KRPH

52

53. ﬁﬁaéﬁ%éﬁﬁ,wﬁﬁﬂamﬁﬁ
STAN I e ST @
(2) WIS AT

(b) THTASE T
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54. Choose the pair in which words are

55.

56.

57.

differently related.

(a) Crime : Punishment
(b) Judgement - Advocacy
(c) Enterprise : Success
(d) Exercise : Health

The most frequently cited source of
interpersonal conflict is

(@) Organizationa] norms
(b) Poor communication

(c) Structural configuration
(d) Social Pressure

By arranging the following words
according to the English dictionary, find
the third word.

Queasy, Queen, Quality, Question,
Quarter

(a) Quality (b) Queasy

(c) Quarter (d) Queen

The following table shows the distribution

of weekly salary (in %) of 1000 workers :
Weekly Salary No. of Workers

Less than 50 40
S1-175 120
76 - 100 200
101 - 125 300

126 - 150 150
151-175 100

176 - 200 55

201 and above 35

The percentage of workers with weekly
salary less than and upto ¥ 125 is

(a) 81 (b) 66

(c) 34 (d) 19
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(a) 319y ; Tvg
(b) Fvig ; Seprerg
(c) 3T : gweran
(d) =mam ; Ereey
ERERICTE Lo e e 33y | 2
(2) HTSH T i
(b) FHSIR gy
(c) ST fy=my
(d) TR oy
Frerforfan et =) ainef WSTHY & AR
m@amaﬁwwuﬁaﬂﬁq [
Queasy, Queen, Quality, Question,
Quarter
(a) Quality (b) Queasy
(c) Quarter (d) Queen
=1 "ot 1000 FEE % w37 &
T =t (2 o) Yafdfa w2 .
ATeATEes Jaa HHETE 6 ey
50 @ %y 40
51 85 120
76 - 100 200
101.-195 300
126 - 150 150
151+ 175 100
176 - 200 55
201 3R 31feep 35
T1258 9 aur 3 105 T HICATieeh a7
aréa?tfmﬂq‘ffﬂxrﬁm%
(a) 81 (b) 66
(c) 34 (d) 19
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b

* 58\ Use of analogy in problem solving means

(@) application of techniques that were
used in the past similar situations

(b) importance of escalation of
commitment

(c) elucidating

(d) uncertainty of techniques

59. In an examination, the distribution of
marks obtained by 30 students is given

in the following table :

Marks
(Class Interval)

10 -25

No. of Students

25 -40

40 - 55

70 — 85

2

3

4

55-"70 6
6

6

85— 100

The mode of the data is
(a) 50
(b) 52
(c) 54
(d) 55

60. If the ratio of the outer and inner

perimeters of a circular pathis 03:22 and
the pathis Sm wide, then the diameter
of the inner circle will be

(@) 55 m

(b) 110 m
(c) 220 m
(d) 230 m

58.

59.

60.

A -11-
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mwmﬁmwmm%

(a)ﬁftﬁwag@ﬂﬁmwmﬁwﬁ
gy et | feha T o

(b);rﬁa@mﬁqﬁimm

(c) THEATT

(d)maﬁaﬁﬁ%\w

Fopeht wler | 30%@@&?@0%%@@
mmﬁﬁ%@ﬁwﬁﬁ%mw%:

qredaieh
(et Sfaret)
10— 25

frerieta <y v

25 - 40

40 - 55

70 — 85

2

3

7

55-"70 6
6

6

85— 100

(a) 55 .

(b) 110 H.
(c) 220 H.
(d) 230 H.
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62.

63.

b

correct ?

1. An efficient Communication ig not
always effective.

2. An effective Communication ig not
always efficient,

Codes :

(a) Only 1 js correct

(b) Only 2 is correct

() Both 1 ang 2 are correct
(d) Neither 1 nor 2 is correct

Seven poles B:OR S, T, Uand v are put
in such a way that the distance between
the next two decreases by 1 metre, The
distance between the first two poles P
and Q is 10 metres. What is the distance
between first pole P and the last pole v 2
(@) 42 metre
(b) 45 metre
(c) 48 metre

(d) 50 metre

ABC is a triangle in which AB = 3 cm,
BC=4cm ang £B =90°, The circle with
diameter AB intersects AC at D and
tangent to the circle at D intersects BC
at E. Then EC is equal to

-12-
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61.

62.

63.

Google Play

évmﬁﬁﬁaﬁaﬁhaqmﬁw%ﬁaﬁﬁﬁw%@a
ﬁﬁﬁq—m/@mmatﬂ%/%?
1.@&&1%@39#@%‘?%%:

@741 3T 2w 3

~

WA @ P, Q, R, s LUANV 59 yar g
W@%%Waﬁ@rﬁ%aﬁaaﬁaﬁltﬁa
mﬁaﬁw%l%ﬁaﬁ@rﬁpaﬂm%aﬁaaﬂ
a;ﬁlon‘ia%m'sé@tﬁpamaﬁn@rﬁv%

ABC whfiysy, R AB = 3 G, BC = 4§
T 4B = 9p° laxmABamTqucm}Dw
ir=afea sy 2 AR 9 H D T TIREr BC
ﬁEwsr%?&%aw% | 99 EC srer @
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Communication among members of the
same group is

(a) downward communication

(b) lateral communication

(c) optimum communication

(d) upward communication

“Duma’is related to ‘Russia’in the same
way as ‘Shora’ is related to

(a) Afghanistan
(b) Germany
(c) France

(d) Malaysia

If the code for TALENT is XEPIRX, how
will you code SEARCH ?

(a) WEDVGL
(b) WFDUGL
(c) WGEVGL
(d) WIEVGL

Purposely manipulating information in
communication process is called

(a) Filtering
(b) Assertiveness
(c) Deviance

(d) Abstraction

If in a code language PAINT is written as
74128 and EXCEL as 93596, then how
will ACCEPT be written in that code ?

(a) 455978 (b) 544978
(c) 554978 (d) 733961

64.

65.

66.

67.

68.

-13-
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THH G % TE1 oh HE TEIN0 3
(a) STETITHY FEEOT :
(b) TTfTe TEwor
(c) T=ZaH TEUNT
(d) SeaTTH FEoT

“GIHT 1 T T4 ¥ I TR 2 o weww
I T T B

(a) HMHEH &

(b) S &

(c) & &

(d) TafyEn |

Ifd TALENT %1 %< XEPIRX &, a1 19
SEARCH ! & % o fere ?

(a) WEDVGL
(b) WFDUGL
(c) WGEVGL
(d) WIEVGL

FEIE STShaT B AT Bt STHEER at-Wt T,
HEAT &

(a) Frerea
(b) JEATIHAT

(c) Tomrem
() Srgiat

g foreft e W & PAINT #t 74128 R
ST & 3 EXCEL % 93596 & at, 3¢ Fe #
ACCEPT ! %@ for@n sem ?

(a) 455978 (b) 544978

(c) 554978 (d) 733961

A
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69. Sonia sold an article at a gain of 16%.
If she had bought at 4% less and sold

it for ¥ 8 more, she would have gained
- 25%. The cost price of the article was

(@) T 225

. (b) 200 -
(c) T 250
(d) T 220

70. ‘Sleeping on a problem’ is a form of

v (a) Abstraction
(b) Emotional instability
(c) Incubation

- (d) Passiveness

71. In a survey of 60 people, it was found

that 25 people read newspaper H,
26 read newspaper T, 26 read newspaper
I, 9 read both H and I, 11 read both H
and T, 8 read both T and I and 3 read
all the three. The number of people, who
read exactly one newspaper, is

(a) 21
(b) 25
{c) 30
(d) 52

72. If +’means X, “’ means +, X’ means ‘+’
. _and “’means “’, then which one of the
following equations is correct ?
(@) 18+6-4x2+3=26
(b) 18+6+4-2+3=22
(0 18-6x7+2+8263

) 18x6-4+7x8=47

SMRN-2 - 21
69. BT Th TR 16% oo WA | aR T R
4% ¥ I &I BiaT 7R T 8 Afereh W s g,
a1 3/ 25% T frerar | a%g 1 5 e o
(@) T 225
(b) T 200
(c) T 250
(d) T 220
70. ‘EHET W 5 U yeR §
(a) 3Teghert sht
- (b) " FRRAT T
(c) ST 1
(d) Ffsraar =
71. 60 =fFaaAl & waewr d gy war fR 25 =fF
FHERYA H 9gd §, 26 G9MENGA T 9&4 §,
26 FHTETYA [ 9gd &, 9 dM1 H 3 I ved &,
11 3FT H 3R T 9gd €, 8 §41 T 3R I wga &
et 3 @it ofii ued € | safaa o wen, S e
T GHERYS 96d §, §
(@) 21
(b) 25
(c) 30
(d) 52
72. AR o0, O ard ) 0 w aref 4
aur o e < g, at Fefafea e §
- T 8 ?
(@) 18+6-4x2+3=26
(b) 18+ 6+4-2+3=22
() 18-6x7+2+8=63
(d) 18 X6 -4 +7 x 8 = 47

-14-
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&é Communication will be effective, if it is

(a) delivered slowly and clearly
(b) delivered using appropriate media
(c) received as intended by the sender

(d) received immediately

74. Which option is/are to be followed ?

TS,

Statements : Some fruits are flowers.
No flower is a boat.
All boats are rivers.

Conclusion : I. Some fruits are rivers.
[I. Some rivers are boats.
III. Some rivers are fruits.
IV. Some flowers are fruits.

Codes :

(a) Only I and III follow

(b) Only II and 1II follow

(c) Only Il and IV follow

(d) None of the above

The median of the following distribution
is 28.5, the values of x and y are
respectively

Class Interval | Frequency
0-10 -
10-20 X
20 - 30 20
30-40 15
40 - 50 y
50 - 60

where the total frequency is 60

(a) 6,9 (b) 9,6

(c) 7,8 (d) 8,7

73.

74.

75

-15-
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Fram gt B, Af 7w

(a) o 3 Tose w0 A foan s
(b)sqgaamm%waﬁmm
(c)mmg%amﬁm%mm
(d) TeehTer ST feRAT ST

forer Forereq o1 STIET TR ST 2 /% 7
FUT: TOHA AR |
S e A T B |
i A T T |
Srepd ;[ FOFATE |
11, Fo AR T € |
111, o T € |
V. % § el € |
He
(a) SFae 1 a1 et 8 8
(b) e 11 @ 111 Tgafa 8 @
(c) 3eret 11 3T IV 7gafia id &

(d) S | | IS T

f2 = 3 7 s 1 HIEw 28.5 2, dl x 3
y % W AR B

Tt A ARERAT
0-10 5
10 - 20 X
20 - 30 20
30 - 40 15
40 - 50 y
50 — 60
et e SR 60 ®
(@) 6,9 (b) 9, 6
() 7,8 d) 8,7
A

Adda247 Instagram


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3

Adda247
d | |
ﬁ SMRN-2 - 21

76. At what rate of compound interest per 76. Torg affs Ihgfe ST H WY T I,ZOéﬁ
annum will a sum of ¥ 1,200 becomes

R 2 9T 4 % 1,348.32 ) w7
%1,348.32in 2 years ?
(o)
(@) 4% ()1
(b) 3% (b) 3%
(c) 6% (c) 6%
(d) 5% (d) 5%

77. Communication that saves time
and facilitates co-ordination in an

77. 9% GRS TRt ETe 3 e e @ afk

Y=Y ! e ST R, e 2
organization is called
TSEY EYNoy
(&) neutral communication (@)
(b) upward communication (b) St et
(c) lateral communication (c) fesier wesyor
(d) downward communication (d) eI Eedyor

78. If ABC is an isosceles triangle with | 78. IR ABC T wfsaTg iy §, Rl AB = Ac,

AB=AC.EandFarepointsonBCand E@TFW;BC@TACW@%?%;%
AC respectively such that AE = AF. If

AE = AF | 9f¢ Z/BAE = 40°, @ /FEC sqsd
ZBAE = 40°, then /FEC is equal to
ol 1o (a) 10°
(b) 20° (b) 20°
(c) 25° (c) 25°
(d) 40° (d) 40°

79. Which one of the following word can 79. PROFESSIONAL’ ¥sg & el @ Feafafag

NOT be formed using the letters of the o9 FH-97 T Y158 T 191 511 Ghar 8 7
word PROFESSIONAL’ ?

(a) PASSION (a) PASSION
a
(b) FINAL (b) FINAL
() NORMAL (c) NORMAL
(d) LESSION () LESSION
-16-
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- g0 @ Which one of the following is NOT | 80. frffiag 3 & -a1 T gasT (e

included in paralanguage ? g ?
(a) Voice quality (a) SAETS TSI
(b) Verbal interaction (b) Hifass 37 fsha
(c) Speech rate () EICRIIT
(d) Pitch (d) =
81. Ifa+b+c =3, the value of 81. Erﬁa+b+c=3,?ﬁ
(1-a3+(1-Db3+ (1—c)3—3(1—a) (1-a3+(1-b>+ (1-¢3-3(1-a
(1-b)(L-0)is (1-b)(1-c)smm=r%
(a) 27 (@) 27
(b) 8 (b) 8
(c) 1 (© 1
(d) O d) o

80. After watching a football match between | 82. 3 e 2t ¥ o T g B AE % R

two parallel teams, person insists that T SfE S Qo hEal 2 fF 98 TEa ¥ ST o
he beforehand knew that the particular 5 Rty 2 (ﬁﬁm 2m) < el oft | TR T
team (winner team) was going to win.
=5 I &
This is an example of
(a) g |ie

(a) Group think

(b) Subliminal problem solving (b) T THET FHIET 1

(c) False consensus effect (c) 3&‘1?? TR I Sl
(d) Hindsight bias (d) = gfe Affd

83. When a polynomial p(x) is divided by | 83. e Rt 9gUe p(x) A (x — 1) it x-2) ¥

(x - 1) and (x - 2) it leaves remainders 5 Srerrfre R ST R, T The AR 51g 7 =l
and 7 respectively. What is the remainder £ | 1 YH =T S p(x) w (k- 1) (x-2)
when p(x) is divided by (x - 1) (x-2)? ¥ frenfira foan stwm ¢

(@) 2x + 1 (@ 2x + 1

(b) 2x -1 (b) 2x -1

(c) 2x-3 (c) 2x -3

(d) 2x+3 (d) 2x + 3

A 17

A A
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84. What will be the minimum value of x 84. X T TdH T 1 BN R fom g «:‘ :

for which the number (3 (x+63)+ 640} is {8(x+63)+ 640} 78 7E 17 & frrfi @) 7
completely divisible by 17 ?

(a) 82 (a) 82
(b) 24 (b) 24
(c) 7 (©) 7
(d) 3 (d 3

85. If a person attempt to solve a problem 85. wﬁaﬁﬁwﬁ-ﬁﬁmmaﬁrw W‘Eﬁa‘*ﬁ
on the basis of his past experience, it is %WWW%WW? @ 3 FRT SR

called

(a) functional fixedness (@) seTaters fedrr
(b) mental set (b) HTHfres ferma
(c) transfer effect (c) 3T=Iwr guTg

(d) confirmation bias (d) gfeesror gerarq

86. Arrange the following in correct order. | 86. f=ifeRa =1 vt AIHA | Faferd HINT |

1. Chest 2. Forehead 1. Bt 2. e
3. Stomach 4. Ear 3. % 4. 3H

5. Leg 6. Chin 5. W 6. 3

(@ 1,2,4,6,8,5 @ 1,2,4,6,3,5

(b) 2,4,6,1, 3,5 (b) 2,4,6,1, 3,5

(¢) 5,4,2,6,1,3
(@) 1.4,2,3, 6,5

(€)5,4,2,6,1,3
(d) 1,4,2,3,6,5

87. Which one of the following is a version of | 87. Frerffen 3§ & #-an g gmam § “formfora

‘divide—and—conquer strategy’in problem F 3K St -TEfy 55 T G R 7
solving ?
(a) g dq1
(a) Analogy :
(b) Trial and error (b) T w Ffe
(c) Means-end analysis (c) TTeH-H1e forgeryor
(d) Hypothesis testing (d) qﬁTﬁ*‘TqTQ'ﬁ&TUT
A -18-
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: 8 > Choose the pair of numbers which is | 88. é@taﬁa;?qmaqqaﬁﬁmsh |
different from others.
(c) 34, 6 @) 42,4 (c) 34, 6 (d) 42, 4
89. Accordingto ‘Communication as mutual | 89. TR -3 T e e’ o 3TIEN,
transaction model’, interaction between it % e safFd
people is
: ) (a) FTEITCHS
(a) interpretive :
(b) interactive (b) SERERIE
(c) simultaneous (c) TEETHIIE
(d) simultaneously interactive (d) L REAINED S GAERIREE]
90. One morning after sunrise, Mohan and | 90. ;Eﬁaaéama@gagﬁiﬂ ﬁ(@gﬁ@aﬁﬁ@
Sol'.lan were standing in a lawn wit’h e aﬂttﬁ?xﬂai@%% Iﬁﬁﬁmw%?ﬁiﬁ
their backs towards each other. Mohan's o % 3
shadow fell exactly towards left hand side. Sl i e T R | He AR fopmr e A R 7
Which direction was Sohan’s face ? (a) r{\é
(a) East (b) o
(b) West =
(c) North (©)
(d) South (d) e
91. The sum of deviations of a set of | 91, Jegull 3 THE Xy, Xgp ++es X, 50 § fe ™
observations, Xi, Xg; --+» ¥ measured ; :
from 50 is — 10 and the sum of deviations e o1 AT - 10 2 3T 463 ford 7 et i
from 46 is 70, then the number of FH AT 70 T, aaﬁgquﬁaﬁg@'{%
observations 18 (a) 40
(a) 40 BY 30
(b) 30 (b)
(c) 20 (c) 20
(d) 10 (d) 10
92. The problem solving process is essentially | 92. ¥HE EHIEM g aTfam &1 [ TH JH 2
an excursion through (@ ¥ mem
a) TR R
(a) Mental fixedness ; 5 S
(b) Response fixedness (b) 31T | Ay
(c) Problem space (c) FHEA qfte % eH |
(d) Active perspective (d) TR TR % wegE |
A -19-
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93. A,Band C can do a work in 20, 30 and

60 days respectively. In how many days
can A complete the work, if he is assisted

08. A aﬂtcﬁn*mmaﬁm: 20, 36‘160 -
ﬁﬁﬁwm%‘lmﬁﬁﬁﬁAWWﬁw

wm%,vﬁagmmmﬁwBaﬁzcm
by B and C on every third day ? HETIAT ST i & 7

(&) 12 (a) 12

(b) 15 (b) 15

(c) 16 (c) 16

(d) 18 (d) 18

94. Which one of the following is a basic

method of effecting behavioura] change ?
(a) Communication

94, ﬁw%%aﬁ@waanw&aﬁqﬁuwﬁamfﬁ
TR STforfey - 2 7

(a) E=yor
(b) Recording (b) 3freray
(c) Optimal rest (c) seaq fagmg
(d) Rhythmic evaluation (d) AT, TR
95. How many numbers from 1 to 100 are | 95, 1 Y T 100@@%#@7&%ﬁ?3ﬁ64@
there each of which is not only exactly mﬁmﬁﬁﬁﬁ 4 1 IFH g 7
divisible by 4 but also has 4 as a digit ? (a) 7
(a) 7
i 10 (b) 10
(c) 20 (c) 20
(d) 21 (d) 21
96. Find the wrong number in the following | gg F=fafag TEAT H Terq T 1 Sifsra
Series : S, 63, 124, 215, 342, 511
7,28, 63 124, 295, 342,511 (@) 7 (b) 28
(@) 7 (b) 28 (c) 124 (d) 215
() 124 (d) 215

97. Which one of the following is NOT g way | 97, ﬁw%f@aﬁéaﬁq—m%vﬁww%wm%g
of thinking in order to solve problems ? o 1 a2 7

(a) Algorithm

(a) == fafer
(b) Trial and error (b) Fam@ T& e
(c) Heuristics . CRSERIE
(d) Anagrams (d) TS

& Adda247 Telegram Channel Adda247 Instagram



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3

Adda

e

7

GET IT ON
Google Play

SMRN-2 - 21

9§. Statement : Should only one company | 98. ¥q : 1 forefl 918 TR | had TH FHFHI Bl
be allowed to run the transport system ATATATE TR 1 T Y AR =R ?
in a big city ?
Arguments : T
I. Yes. This will put an end to unhealthy L. & |3~gﬁﬁf\q:;aﬁzqﬁzﬁa;qwaﬁar§ﬁ
competition among different et >
companies. Sk T I & I
II. No. The travellers should be given 1. & | R ot ATATATd ST % Hed SATIh
a wider choice of transport system. el U BT =R |
Which of the above argument(s) is/are : ;
Sinne? Idad ash # -9/ @ T wvEa 2 /8 7
Answer with the help of codes given Frefafaa g % YR W IW AT |
below : !
Codes : =
(a) Only argument I is strong (a) S T [ T ?
(b) Only argument II is strong (b) Fae ek 11 91 &
((3 io.tt};arguments I Iand II are strotnlzc;1r (©) 2 a1 3 11 wvreEd @
either argument I nor argumen
i s troms (d) 7 at ek 1 3T 7 & ek 11 o @
99. Choose the odd one among the following, | 99, f=fuiftad # & 1ETa =t zﬁ |
(a) 15t August (a) 15 3T
(b) 26t November (b) 26 TewT
(c) 14th November (c) 14 Faw=it
(d) 26t January (d) 26 S
100. Feedback is used to effectively manage | 100. SR (SR 3T) TeTrelt &9 & SHER o Tt
behaviour and improve performance. It _ @mﬁmﬁmm% | 7 TR R
is a form of )
e (@) S TEITOT S
(a) mass communication
(b) informal communication (b) = Tt eI =61
(c) interpersonal communication (c) SFTSAfHTeR TEITT
(d) group communication (d) g’:g:'gta'qm?ﬂ
A -21-
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% DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.

2021
CODE : SMRN-2 - 21
SUBJECT ( SERIESW

GENERAL STUDIES - II L q

Time : 2 Houljs Max. Marks : 200

Write your Rolf Number In numbers »
in the box _
In words

To mark Answer use Black Ball-point Pen only.

Candidate must read all the instructions carefully before writing the answers.

You are to mark your answer on Answer-Sheet only. After the examination is over, handover
the original Answer-Sheet to the Invigilator.

IMPORTANT INSTRUCT
1. Answer all questions. All questions carry equal marks.

i 2. The Candidate should indicate the correct Roll Number, Subject, Paper Code and its Series on the
Answer-Sheet, otherwise the Answer-Sheet will not be evaluated and the candidate will be
solely responsible for it.

IONS [

. Do not write anything on the cover page of the Test Booklet except Roll Number. Use the space
for rough work given in the last two pages of Test Booklet,

S. If you happen to find that the Booklet issued to you does not have all the pages properly
printed or it has any other deficiency, then you need to approach the Invigilator to get another
Booklet of same Series and Code.

6. In this question booklet questions are printed in both English and Hindi languages. In case
of any ambiguity in the question, the English version of the question shall Prevail.

7. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN
THE ANSWER SHEET.

() There are four alternatives for the answer to every question. For edch question for which

a wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above
to that question.

(iii) Ifa question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO.
m%:mﬁsﬁwﬁa‘}mwgﬁaw%nwwmw%l
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